
Atmospheric Science

r Eart
ho

ho
lic

 A
cad

em
y



QUE i- How much latent heat is

released when 2kg of

water vapour condenses into

solution"quid ?

Given M
vapour

= 2kg

Lr =
.

Latent - heat factor

for condensation of
vaporization

I 2.5×106 y . Kg
-

' ( ④onsltant
value)

DOE = ? J ( Latent
heat)

DAE = Lqg
• DM water

mass of phase
changed
water

whose DM water

DQE =(2.5×106 g. kg
-
') . 12kg)

= 5000 KT
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Ques And the potential temperature

for air at
Z = soon Cheightt

)

with T= 10°C

Solution -
Given = Z - Soo

m caught)

T =
to

- e (actual
temp . )

O = ? E (
potential tempo,

Assume no liquid
water

→
constant

= g. g

ocklm

OG ) = TCI t tf
.Z

Q = ( 10°C) + ( g. 8
-

c 1km) to co
-s)

= 14 . go e

point to be noted

This is the T
that air would

have when

lowered dry
adiabatic to surface .

O ase

Aways greater than
actual tomb T

for z above the reference level .
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